SUMMATIVE ASSESSMENT —I (2011)
ot wem —| 10008
MATHEMATICS / oI

Class — IX / &aIr— IX

Time allowed: 3 hours Maximum Marks: 90

fraiRa v : 3 "o FfRHT 3w : 90

General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
qguestions of 4 marks each.

(iii)  Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

(iv)  There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted.

e Al :

(i) ) g Srfanf B |

(i) SHUATTH34 YA E N IR @vei &1, 9, 9 a7 € H gl AT 8| Wvs — 1 H 8 U & RorH
UAPG 1 3[h BT 8, WS — 9 H 6 U9 & NH b & 2 3fd &, @vs — 9 § 10 g9 & R+
UAH & 3 3dh & TAT WIS — T H 10 U & OFH UAS & 4 3 & |

(iii) @vs o H Uz WA 1 A 8 Tb IgfdPbedid U 8 T8l U] IR fJbedl § A U @el fddbeq ==
=

(iv) S99 ued o3 | &8 4 9aaR fAdbed T8l 7, oifd 1alRed fdwmed 2 fdi & Udh U H, 3 3fdl & 3
el ® 3R 4 il @ 2 gzl H AU U | US U H U AHT BT 9hT BN |

(v) dheAgerey BT YA afvfd 2|

Section-A

Question numbers 1 to 8 carry one mark each. For each question, four alternative choices
have been provided of which only one is correct. You have to select the correct choice.

1. A rational number between J2 and «/5 is:
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3 2
(A) 5 (B) 3 © 1 D) 5
J2 3R 3 & &= ufiEg gen R

@ 3 I © 1 ® 5

If x3+ 6x2 +4x + k is exactly divisible by x +2, then k is equal to :
(A) -6 (B) -7 (G (D) —-10
1T (x +2) FGIR 13 + 622 + 4x + k T JU-J Fa1fSa S Ak 1AM ©

(A) -6 (B) -7 C -8 D) -10

Which of the following is a quadratic polynomial in one variable ?
(A) 2x° +5 (B) 2x2+2x~2 Q) 2 (D) 2x2+42

frretferiad & & s 1 sgys T =R H ¥ Sgue 772

(A) 2x° +5 (B) 2x2+2x~2 Q) 2 (D) 2x2+42

The coefficient of x2 in 2- 3x2) (x2 —5)is:
A -17 (B) -10 <© -3 (D) 17
(2—3x2) (x2—5) ﬁxzaﬂ‘lffﬂ%l?% :

Ay —-17 (B) —10 C -3 (D) 17

The number of line segments determined by three collinear points is :
(A) Two (B) Three (C©)  Onlyone (D)  Four

o v fagel § fhas Tards s ST 9ehd 2

A (B) M (C) Had TH (D) =R

In the given figure, if OA =0B, OD=0C, then AAOD =~ ABOC by congruence rule :

& Tt sTRfA A, A OA =0B, OD=0OC WAAOD = ABOC 519 Feiawar faH o Sror qaimam
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%,a%‘%;

C B
o)
A D
(A)  SSS (B) ASA (C) SAS (D) RHS

The base of a right triangle is 15 cm and its hypotenuse is 25 cm. Then its area is :
(A) 187.5cm? (B) 375cm? (C) 150cm2 (D) 300 cm?

Teh YUV TS 1 SMER 15 9.1, 3R of 25 Q.. &1, 1 SHHT &3 SN 2 -

(A) 187.54.H.2 (B) 3759 2 (C) 150€.HL2 (D) 300 €.l

Two sides of a triangle are 13 cm and 14 cm and its semi perimeter is 18 cm. Then third side
of the triangle is :

(A) 12cm (B) 11cm (©) 10cm (D) 9cm

Ife 31 s 1 <1 o 13 AL, 14 T, oI) 9fmm o7 e1en 18 9. 21, o Fad oo R o

(A) 129 (B) 119H.  (C) 109H. (D) 99

Section-B

Question numbers 9 to 14 carry two marks each.

-6
Simplif 15%
implify : | ——
y 9%

LSRN ﬁﬁﬂ{ : {151—%]6
9/
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10. Check whether the polynomial p(s) = 353 +52-20s+12isa multiple of 3s —2.

B@E'p(s)=3s3+sz—205+12ﬁ3|§q335—2WW'€ﬁﬁ\‘rﬁ?{aﬁﬁ@fl

1. without actual multiplication find the value of (17)3 +(— 12)3 +(— 5)3

o 1 AR fohe for, oR I HiSe . (17)3+ (—12)3+(=5)3

12. If a point C lies between two points A and B such that AC=BC, prove that AC= %AB.

Explain by drawing figure.

afg g fag C 1 o1 fogali A 991 B & e 39 wahR fXerd § fF AC=BC g, 1 stiepfa wiwe fag

HIfsY foh AC= %AB gl
3. 1n figure below, angles x and y are supplementary angles. If Zx=110°, find the value of y.

C
x
Yy
“ S G

71 Tpfa 4, x q°Ty TP HO 8 | ARG Lx=110° &, T y 1 94 G SHifoC |

C

OR
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14.

15.

In the following figure, S is any point on side BC of AABC. Prove that AB+BC+ CA > 2AS.

A
C
S
B
=1 g eTRfd H, AABC &1 4 BC R feq S & fog 81 fag ifsit fF AB+BC +CA > 2AS 1
A
C
S
B

Plot a point A (—3, —4) and draw AM and AN as perpendiculars to x-axis and y-axis
respectively. Write the co-ordinates of points M and N.

fag A(—3, —4) FI TRAfEd AT IR forg A § AM 9 AN PRI x-318] J y-378] T a4 S |
fog M 3R N & frdene fafay |

Section-C

Question numbers 15 to 24 carry three marks each.

P

Express 0.245 as a number in the form = , where p and q are

integers and q #0.

0.245 ®1 Gea L wu & e ey, s p 3R q quiter € 91 q£0 ©
q

OR

3 +2

e N

and g = find p2 + q2.

B3 -2
Bk
qfe p = ﬁ ﬁﬁ?q ﬁi?%?ﬁ p2 +q2 ¥ HifST
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16. pt+q q+r P\ TP
Simplify : | * i =
implify : = b b
p+q qtr r+p
x? x1 x"
e (5] (7))
17.  Without actually calculating the cubes, find the value of
36 -@
= +[(=] ==,
2 3 6
: 1V (1Y (5)
rdfersh &9 § ST <Rl W F1 o form (—j - (—) — (—j T | A HITT |
If p=4—q, prove that p3 + q3 +12pq=64.
e p=4—q ¥, @ fag T fF p3+ 3 +12pq =64

18.  Find the value of x3 + y3 —12xy + 64 when x +y= — 4.

?Tﬁ{x+y= 478, ?ﬁx3+y3—12xy+64WIIWE|F‘T hITSTT |

19. In given figure PQ || ST then find ZQRS.

S )
Q 130° A
P 1100
R
< M 3TRfd B PQI| ST, ZQRS A ShifST |
S R
Q 130° T
P 1100
R

OR
In given figure, find the value of ZQRP when QP || RT.
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20.

21.

62°

57°
Q R S

St g8 SHIA H, LQRP T 9 J1d HiTS1C & QP || RT.

»
>

p T
62°
57° .
Q R S
A E
B C D

In the given figure, ABC is a triangle with BC produced to D. Also bisectors of £~ ABCand /£

ACD meet at E. Show that Z/BEC = % ZBAC .

< g2 ampfa § ABC U T3« @ St qsn BC fag D& sg€ | 81 L ABC A L ACD &

gafgaSs E W e €1 g9isy f% /BEC = % /BAC

In the figure, PS=QR and ZSPQ= ZRQP. Prove that:
(i) APQS~AQPR (i) PR=QS (i) ZQPR= /PQS
=1 emRfa &, PS=QR @ /SPQ= /RQP ¥ fag =ifaw fF :
(i) APQS~AQPR (i) PR=QS (i) ZQPR= /PQS

S
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22, TInthe figure given below, AD is the median of AABC. BELAD, CFLAD. Prove that BE=CF.
A

1 smpfa H AABC &t & Wifeasht AD ©1 BELAD @1 CFLAD &, < fog sifsie f BE = CF.

A

B D\o/c
F

23. Ifa pair of parallel lines is intersected by a transversal, show that the bisectors of a pair of

alternate interior angles are also parallel.

Tfe <1 TR Tl =1 T fads W gfaese =it § a1 fag wifse fo <€) whiae ofd: =il &
HATGHIST O THR Bid © |

24. A field is in the shape of a trapezium whose parallel sides are 25 m and 10 m. The non-parallel
sides are 14 m and 13 m. Find the area of the field.

Teh T GHT & SRR 1 8, FTEeh! Gam §=id 25 M. &) 10 #F. €1 STt SFqH=R g 14 =,
3R 13 H. €1 39 W F SB[ BT |

Section-D

Question numbers 25 to 34 carry four marks each.

Rationalize the denominator of

4
2+ 3+ 7

OR
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26.

27.

28.

29.

30.

Ifx= #, then prove that (x3 + %j -5 [xz + —j
x

ﬂfxzﬂé,ﬁmmﬁh_ x3+l -5 3c2+i + x+1 =0
2 X 2 X

. x/az—b2 + a . \ia2+b2 —b
Xpress \/a2+b2 +b a—’\iaz—b2

in the simplest form .

x}az—bz + a . \}a2+b2—b
\/a2+b2 + b a—\/az—b2

! ioTH ®Y | fad |

Find the value of (106)3 — (94)3.

(106)3 — (94)3 =1 WH TG Hife |

Factorise : 2x3 + 9x2 +10x + 3.

2x3+9x2+10x+3a5‘IUH'@? It |

Factorise : 8x4 +2x2—1

TUEUE AT : 824+ 2321

OR

Without actually calculating the cubes evaluate the expression :

(49)3 - (22)3 - (27)3

T W BT 1 R foRd foT (49)3 — (22)3 - (27)3 &1 WH I HifT

(i)  Plot the points A(=5, —2), B(1, —2), C(6, 4) and D(0, 4).

(if)  Join the points to get AB, BC, CD and DA. Name the figure so obtained.
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31.

32.

33.

() g qa | forg3ll A(=5, —2), B(1, —2), C(6, 4) T D(0, 4) ! HATAEd HifST |

(i) forg3li =1 s AfR AB, BC, CD @9 DA WH 11 3§ YR ST 3ATeh{d o1 919 SISy |

In the given figure AB||CD and EF is a transversal, find x, y and z.

<t g€ oTRfa H AB||CD @1 EF U fidfer YW@ §1 «x, y A7 z 1 0 F1G HifST |

E
A B,
< 3057/ P >

R
25 -
C 657Q D

In the figure below AB is a line segment. P and Q are points on opposite sides of AB, such that
each of them is equidistant from the points A and B. Show that the line PQ is the
perpendicular bisector of AB.

N

Q

sTepfa o farg P 3R Q @ AB &t faadia faunsii # 50 yehr feorg € bl farg A SR BA W T
IuF ¥ 1 fag HIST o6 PQ , S AB 1 Tl THIGYSTH T

N

Q

If BE and CF are equal altitudes of a AABC, then prove that AABC is isosceles.

Ifs BE 3R CF fRdl! 1t ABC % sUeR 3fivicid 2, 0 fog *ifSe ff AABC T qHfgang 1« T
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34.

In the figure below, AC=AE, AB=AD and Z/BAD = ZEAC show that BC=DE.

A , E

B D ¢

fr=1 e1fa §, AC= AE, AB=AD @1 /BAD = /EAC & d fag #ifSt BC=DE.

A , E
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